
1.Overall accessories diagram

2.Number of accessories

main 
body

front*1 rear*1 left*1 right*1 Middle crossbar*8

注：
with 2 holes*2
with 4 holes*4
with 6 holes*1
with 8 holes*1

annex

annex-1*6 annex-2*6 annex-3*6 annex-4*6 annex-5*6 Front spotlight*2

Screw

Black screw ：
M8*20 Hexagon socket screws*62
M8*25 Hexagon*12
M8 flat washer*70
M8 spring washer*12
M8 nut*34

Silver screw：

M6 Hexagon socket screws*4
M6 flat washer*4
M6 spring washer*4

3.Installation steps
3-1.Connect the corresponding letters and lock the screws



3-2.

3-3.

3-4.

There are sponge 
pads on the back 
of the two places 
that need to be 
attached by the 
customer to 

Note: This outer cover is 
only a flat-bottom 
installation effect. In 
actual installation, only 
the inner bracket needs to 
be installed. This outer 
cover is installed and 
locked after the luggage 
frame is assembled and 
moved to the roof of the 



3-5.Turn over the luggage frame after installation

3-6.Put the single row of small lights in from behind the front baffle, lock the screws on both sides

4、After the luggage frame is put on the roof, the installation is complete after installing the shell as shown in the figure


